
Homework All due Jan 21

I (a) Prove that the following move on a Dehn surgery diagram preserves
the diffeeo .

type of the corresponding 3- manifold .
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In other words
,

we can find an unknotted component U in the diagram and twist the

Shands going through it at the expense of changing the framing on U .

Hint : apply a Dehn twist to a solid torus
.

b) How does the framing on the other components change ?

The above process
is called a Rolfson twist

c) Use a Rolfson twist to see that
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2 The following move on Dehn surgery diagrams is called a slam dunk
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n Fact : Slam dunk preserves
the

differ type of the 3 Wyld .
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a) festai be integers . Show that the diagram below represents a lens space up , g) .
what

the relationship between fails and Bad ? ai

. .aan
b) Show that describes a Dehn

surgery,enjoy .

( Hint : feel free to  use Rolfson twists
,

blow up 1down

c) For
any

knot K and nel . prime integers I p , g) , compute H * ( 53µg I k ) ;
 7L)

,
where S }q( K )

is the result of Dehn surgery on S3 along K  with framing Mg -

when is H
* ( s } , a

( k ) ) I H * CS3 ) ? when is H * (53mg I k ) ) I H * C s
'

x 5) ?


